OBELBIHERUVBHEONRILFMERIRFHER

e - BENSERIDEE (lLAg)
%1 - 2 %B {‘ /\ é%*ﬁ
1/ 14~R=2)
sEmE BEFLIE () T ) BB () HEHR (ko4 5" 41493 3ng-TEQ/ ) BHE e/ IR
B
B K& ﬁ%
T Tk =5
g WHET s [ mm [ op | xm | ok | m s | ent | 2= | Kk |en| s | B8P | 1w | mx | ax [EFZ| o | ewm
s w | & B
1@ DK AL B 62| of ss| 2| &2 of of e of of 9 318) 11453 0 of 7| 12649 of 12649] 24420
7oy 7R 0 1 2 0 0 0 0 0 1 0 1 0 0 0 0 0 12 0 12 12
sl7oyLEETFIL 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1 0 1 1
a7 5 ) LB RO T DKEMEE 3 i al 3l o of of s i 0 1 5 0 0 0 15 7 0 7 22
6|74 ULBE2 —E ROFS TFIL 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
7oy L<i—TFI 3 2 3 3 0 0 0 3 2 0 2 659 0 0 0 659 162 0 162 821
8|7 V)ILEEXATFIL 1 0 1 1 1 0 0 2 0 0 0 120 190 0 0 310 0 0 0 310
olroym=ruyn ol 3] o o o of of 6 3 o 3 11140 0 0 of 11140 12011 of 120m| 23151
nvroardy 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
127+ r 7 LFE K 4 1 5 sl 2 0 0 6 1 0 1 3573 29100 0 o| 32673 120 0 120] 32793
BlFer=rYL 7 71 10 7 2 0 0 9 7 0 7 504 210 0 0 714| 77840 o| 77840 78554
6|2, 2 —PYERAYVTFO=-rYIL 0 1 5 0 0 0 0 0 1 0 1 0 0 0 0 0 18 0 18 18
18|7=1) > 3 1 5 2 2 0 0 4 1 0 1 347 15 0 0 362 37000 0 37000 37362
2002—73)xTH9)—)L 5 4 7 3 2 0 0 5 4 0 4 6 4300 0 0 4306 287402 0 287402 291709
Bla -7/ —6-9—Lvy—TFF)—23 1 1 1 1 of of o 1 1 1 2 0 0 0 0 0 0 0 0 0
—AFLFA—1, 2, 4= NPTV~
5 (4H) —#4Y BIBRARYTIY)
287y J)7)a—)b 1 2 2 1 1 0 0 2 2 0 2 3 1 0 0 4 449 0 449 452
W1 —FYLAFo—2, 3—THR*SFO 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 170 0 170 170
INY
NEHTILFIAYEY VR VEBREED 3 4 6 1 2 0 0 3 4 1 5 0 3000 0 0 3000 2526 0 2526 5526
B (TIFILEDRFEN 1 O0H14F
TOEDRUTDEEWICES, )
31 7)3-_;_;&0‘:5@4[3@% 1 6| 8 o 1 of o i 6| o] 6 0 89 0 0 go| 1132 of 132 1221
RI7VNSEY 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 0 1626 0 1626 1626
Kelpat 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 0 1150 0 1150 1150
3|3—4 Y FFRNAFIL—3, 5, 5—k 0 3 5 0 0 0 0 0 3 0 3 0 0 0 0 0 398 0 398 398
YAFNSIANES V=AY TE—b

HEHFE - TR26EE




OBELBIHERUVBHEONRILFMERIRFHER

1. BEH - RBEDERIDKE (lLAR)
xR1-2 #HEFRR - £2%E
(2 / 14R=2)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
ity 7
BE T TKE Eﬁ%
7] 0&
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
s w | H o
B4V TLY 1 0 2 1 0 0 0 1 0 0 39 0 39 0 0 0 39
374, 40 —qvyFOPYFVYIS T/ —I 0 1 5 0 0 0 0 0 1 1 0 0 0 10 0 10 10
BEERT T/ —IVA)
8|2, 2 — {(qvyFOryYsEvER [ (2 0 1 1 0 0 0 0 0 1 1 0 0 0 2 0 2 2
, 6-Y70F—-4, 1-7z=LV) %
*]1}) x5 /-0
w4y FoEL=2— (4—XrF>FT1 0 1 1 0 0 0 0 0 1 1 0 0 0 54 0 54 54
ZI=3—=1)) ERIT/RILT—h (
a7z E—1)
1|3 —qvyFOKEFL—2—rY 7040 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
)x%)wyz“?:u F (RIBZILES=Z
2lo—qgz3yyysvF4y 0 1 1 0 0 0 0 0 1 1 0 0 0 18 0 18 18
a1 VT m ARVZDIEAY 0 1 1 0 0 0 0 0 1 1 0 0 0 200 0 200 200
WBITHFA—I)b 1 0 1 1 0 0 0 1 0 0 19 0 19 0 0 0 19
SB|lTFL=2—-[4— (6—4HOO0—-2—F 0 1 1 0 0 0 0 0 1 1 0 0 0 19 0 19 19
JERYYZIAXY) 7/ %] FOE
A=t GIEFHORY FTFI)
slo—TF)IL=0—-4—=—rOTz=)=7 6 o 70 0 6 0 0 6 0 0 0 20 20 0 0 0 20
TZVKRRK/FAT—h (BIZEPN)
HIN— (1—TFLTOEL) —2, 6= 0 1 1 0 0 0 0 0 1 2 0 0 0 3 0 3 3
=hE=-3, 4—F2 YTy RERVT
IX9Y V)
512 —TFjLA£H VER of o 1 of of of of of o 0 0 0 0 0 0 0 0
BlTFILIRVEY 295 38 297 295 2 0 0 297 38 38 406600 214 406814 97562 0 97562 504376
BlTFLYAES R 2 0 3 2 0 0 0 2 0 0 740 0 740 0 0 0 740
OTFLVITIYV 3 2 4 2 2 0 0 4 2 2 3013 10000 13013 15 0 15 13028
0lTFL v 7 I YUEEE 0 2 2 0 0 0 0 0 1 2 0 0 0 120 30 150 150
&3[1, 17 —zFLY—2, 20 —rryv 0 1 1 0 0 0 0 0 1 1 0 0 0 150 0 150 150
ZoL=U703IF (BIEYITRITO
NS CSVIPES

HRHEE « THR26FE




OBELBIHERUVBHEONRILFMERIRFHER

1. BEH - BEVERIDSESET (lLER)
®1-2 #MEFRH -  £2XE
(3 / 14R—=2)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
-7
E | T TokiE o
7] 0&
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw

= k| B %E
64|12 — (4—ThF2T7xZ)) —2—XF 0 2 2 0 0 0 0 0 2 0 2 0 0 0 104 0 104 104

LV7AEL=3-TJx/FIRVI)IT—

T BB FAYIR)
5lcrsooe Ry Y 2 3 5 2 0 0 0 2 3 0 3 111 0 111 90000 ol 9e000f 91111
68[1, 2—TR*> Oy (BIAELETO 2 2 3 2 0 0 0 2 2 0 2[ 22620 0 22620 2301 0 2301 24921

ELy)
69|12, 3—TRF>FALL=Tz=)IT— 0 1 2 0 0 0 0 0 1 0 1 0 0 0 2100 0 2100 2100

F
7 = 8% 1 1 8 0 1 0 0 1 1 0 1 0 2 2 2100 0 2100 2102
131 —H4%—) 1 1 1 0 1 0 0 1 1 0 1 0 1 1 20 0 20 21
A RS-0 FILT7T /=) 0 2 2 0 0 0 0 0 2 0 2 0 0 0 174 0 174 174
75|57 RI 9 ARVCZDILAY 1 al 74 2l 10 0 o 12 4 0 4 4 13 17| 10505 o] 10505| 10622
|4 Foav—hTOSV 9 A 5 6 6 3 2 0 0 5 6 0 6 351 79400 79751| 356468 0| 356468 436219
8|2, 4—%LJ—) 2 2 2 2 0 0 0 2 2 0 2 109 0 109 42 0 42 151
80 Ly 31| so| 347[ 33 3 0 o] 33| 50 o| 50| 759807 2909 762716| 317851 0| 317851| 1080568
IEYDP, 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
82|8B RN F DACHMEIL A Y 1 1 2 0 1 0 0 1 1 0 1 0 18 18 59 0 59 7
[ x> 6 2 9 6 0 0 0 6 2 0 2 6510 0 6510 4405 0 4405 10915
84|17 ) FFHF—IL 2 2 4 2 1 0 0 3 2 0 2 4 1 5 700 0 700 705
85(4 oI TILTE R 0 1 1 0 0 0 0 0 0 1 1 0 0 0 0 34 34 34
86[o L —IL 5 3 6 4 2 0 0 6 3 0 3 444] 2801 3245 37127 o| 3m27| 40372
8717 O LRV =i 7 O LEEY) 18] 17| 89 5] 16 0 ol af 7 ol 17 466 1698 2164 1917864 o| 1917864 1920028
88|75Mf & O LMEEY 1 a7 3 9 0 of 12 4 0 4 19 21 a0 14462 o 14462| 14502
glyoor=y> 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
92— (4—4OA—-6—TIFILF7I/—1 1 1 1 1 0 0 0 1 1 1 2 0 0 0 8 6 13 14

y 3, B=RUTPU—2—-4)) X/

—2-XFLTOEF/ZUIL (BIBRY

T7HIV)

HRHEE « THR26FE




OBELBIHERUVBHEONRILFMERIRFHER
1. B - BEVERIDEE (lLAE)

x1-2 #FEFER - 2¥EE
(4 / 14R—%)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
PE -8
g | T Tk o
mE o | oz s | a#m . s | mE=p | TOF = Bl
= ME R £ AR | 2K | £ bRy =E AE B A * b:hy Af AE
ES i | BE | 24 | XS | 24 % | 12 + % x t| *s il % 237 t 8 s | 2 T
QBl2—sOQA0—2’ —IFI—N— (2—% 0 1 1 0 0 0 0 0 1 1 2 0 0 0 0 0 9 0 9 9
MES—1—=XFIIFI) —6" —XF
VW7 b7ZU R BIBXRZ70-)0)
“ulroozFLy (ALEEE=IL) 4 1 5 4 3 0 0 7 1 0 1 49800 2510 0 0 52310 550 0 550 52860
100|2—»00—-2", 60 —YITFI—N-— 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 18 0 18 18
(2=7AORFSITFIN) PEIT7ZU K
GEFLFZo0—))
wlsopvzidoxsyy (BE&HCFC— 3 1 3 3 0 0 0 3 1 0 1 4700 0 0 0 4700 480 0 480 5180
22)
we|lpro Y 74049y (RELHCFC 1 1 1 1 0 0 0 1 1 0 1 19000 0 0 0 19000 14000 0 14000 33000
—133)
08| (RS) —2— (4—sOoO—#IKk—F 1 1 1 1 0 0 0 1 1 1 2 0 0 0 0 0 1 9 10 10
VLA FY) FOEF Vg (BlExa7n
v 7)
M3|2—snono—4, 6—E2X (ZTFILF7I) 2 0 70 0 2 0 0 2 0 0 0 0 1 0 0 1 0 0 0 1
) =1, 3, 5=hUTIY (BIBVTY
YXIFCAT)
M7l (RS) —1—=/5—-s0O007zxz=)L—4 1 1 1 0 1 0 0 1 1 0 1 0 1 0 0 1 55 0 55 56
, 4=V AXAFIL—-3— (1H=-1, 2, 4
—~)TYV=I=1—AIXFI) VG
¥=3—F—) BHTTIAFV )
1215 —-soo07x/—Jb 1 0 1 0 1 0 0 1 0 0 0 0 50 0 0 50 0 0 0 50
12313 —so07arRy (BlI&E{7YIL) 1 0 1 1 1 0 0 2 0 0 0 4 8 0 0 12 0 0 0 12
125l oaRyEY 4 5 5 4 2 0 0 6 5 0 5 202263 570 0 0 202833 35670 0 35670 238503
12717 a8RIL A 6 6 9 6 1 0 0 7 6 0 6] 52730 8100 0 0| 60830| 55400 0|  55400| 116230
128/ OO x4y (RI&HE{EXFIL) 1 1 3 1 0 0 0 1 1 0 1 3000 0 0 0 3000 4400 0 4400 7400
13— 0O00—-2—-XAF)L—1-TORY 1 0 1 1 0 0 0 1 0 0 0 5 0 0 0 5 0 0 0 5
13235 NRUOFDILEEY 2 8 14 0 2 0 0 2 8 0 8 0 204 0 0 204 5265 0 5265 5469
134|8EEL = )L 3 1 3 3 1 0 0 4 1 0 1 3475 3700 0 0 775 1 0 1 7176
135(BFEE 2 — X PV TFIL (REGTFLVY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
JA—NE/AFLNI—FNTET—b)

HRHEE « THR26FE



OBELBIHERUVBHEONRILFMERIRFHER
e - BENSERIDEE (lLAE)

x®1-2 #ERRR - £XiE
(5 / 14R—%)

sEmE BEFLIE () T ) BB () HEHR (ko4 5" 41493 3ng-TEQ/ ) BHE e/ IR
Hett-
T 7 =a
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= m| & B
1364y FLTILFE R 1 0 1 1 0 0 0 1 0 0 0 1 0 0 0 1 0 0 0 1
14314, 4’ —SF7I )97z )bz—FI) 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 240 0 240 240
44K 7 bR GEERUY 7 URBEEA]| N 2| 72 1 10 0 ol 2 0 2 69 237 0 0 306 2310 0 2310 2616
BR<. )
45|20 — (STFNLFI/)) TH—I 0 2 3 0 0 0 0 0 2 0 2 0 0 0 0 0 7055 0 7055 7055
|0—2 —JITFITI/)—6—XF)LEY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
IVV—-4—q)= O, O—YXFI=K
)7\71'\I:|9'-7.|'7—|\ (BBREY IRAXFIV
147|N, N=YIFILFAAINIVES—4 2 ol 70 0 2 0 0 2 0 0 0 0 3 0 0 3 0 0 0 3
=AY I (RBFANYAILTX
@RV FAH—T)
149|miE b= 4 2 73 2 2 0 0 4 2 0 2 114 0 0 0 14| 33025 0| 33025 33139
150] 1, 4 —IF4 XYy " 4 76 3 9 0 0 12 4 0 4 7100 14878 0 0 21978 70129 0 70129 92107
1511, 3—UHFYsy 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
152[1, 3—SHILNEALFA—2— (N, 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1500 0 1500 1500
N=YXFLTI/) —7anry (Bl&A
D)
154 A OAxS LTI Y 1 0 2 1 0 0 0 1 0 0 0 76 0 0 0 76 0 0 0 76
157|1, 2—vsoOTéd Y 7 3| 74 3 6 0 0 9 3 0 3| 13400 1495 0 o| 14895 72510 o| 72510 87405
158[1, 1—vsnO0TFL Yy (B&iE{tE= 11 of N 1 10 0 of n 0 0 0 35 3 0 0 38 0 0 0 38
VFv)
159 2—1, 2—vsO0TFL Y 9 ol 71 1 8 0 0 9 0 0 0 47 3 0 0 50 0 0 0 50
16013, 3’ —2/snOQn—4, 4’ —Y7X) 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 0 127 0 127 127
I AS Y
168]3— (3, 5—y4A07zT=Jl) —N— 1 1 1 0 1 0 0 1 1 0 1 0 1 0 0 1 300 0 300 301
AV 7aEL—2, 4—-IUFFXVYL1I5Y)
U*//— 1T—ALRFHI R (BI%1 70
TAY)
1693 — (3, 4—<sO@7T=JL) —1, 1 1 1 1 0 0 0 1 1 1 2 0 0 0 0 0 43 18 61 61
1—;% VRER (Bl&YvnrXiEDC
MU

HRHEE « THR26FE




OBELBIHERUVBHEONRILFMERIRFHER
e - BENSERIDEE (lLAE)

%1 - 2 %B {‘ /\ é%*ﬁ
(6 / 14R—2)
s&mE BEEEFH() B AR (1) BB (1) HEH R (ko/ 22" 414948 idng-TEQ/ %) BRI ko/TES SV
HR -7
T Tk AE
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= L i &
174[3— (3, 4—<s0@7T=)L) —1— 0 1 1 0 0 0 0 0 1 2 0 0 0 1 1 1
X)I\=\’—* — A FIVER 7J<$ (Bl&Y =20
b4
1781, 2—voson7a/sy 1 1 1 1 0 0 0 1 1 1 400 0 400 180000 180000 180400
179[1, 3—vsoo7axy (BZD—D) 2 o 70 0 2 0 0 2 0 0 0 0 0 0 0 0
Bl soarvEy 5 5 5 5 1 0 0 6 5 5 8666 260 8926 32680 32680 41606
183[4 — (2, 4—voroO~RvYAIL) —1 0 1 1 0 0 0 0 0 1 2 0 0 0 0 0 0
, 3=YAFI—-5-ES5YY)L=4—h
VNIV 2AF—b RIHEES/L—h)
1882, 6—voroa~RvY=rYl (BEY 1 1 1 1 0 0 0 1 1 2 0 0 0 28 35 35
I OR=JJLXIFDBN)
18| oaRy47)A07a/8y (Bl&H 1 1 1 1 0 0 0 1 1 1 14 0 14 2 2 16
CFC—225)
186 soOx4dy (BLEIEAFLY) 3 14l e7f 17 7 0 o] 24 14 14| 84048 6 84054| 267393 267393 351447
189IN, N=JvoanFy)l—2-~RvVF 0 2 2 0 0 0 0 0 2 2 0 0 0 1880 1880 1880
PY=WRWVITVT IR
(v oaRyeITY 3 0 3 3 0 0 0 3 0 0 350 0 350 0 0 350
191(1, 3—-YFASv—2—4q)FrvAOy 0 1 1 0 0 0 0 0 1 2 0 0 0 1 1 1
§/4V7th(%%4v7uitay
97| F 4 Y ABRO, O—U XFIL—S—1, 0 1 1 0 0 0 0 0 1 1 0 0 0 72 72 72
2—EZ2 (ZhFTALKRZ)) TFIL (
MERYSY VYRR SFA )
200 =—hrObILTY 2 1 2 2 2 0 0 4 1 1 28 163 191 6100 6100 6291
201|2, 4—y=fpO7z/—) 1 1 2 0 1 0 0 1 1 1 0 12 12 110 110 122
2| =RV EY 1 0 2 1 0 0 0 1 0 0 15 0 15 0 0 15
23| 7 T LT Iy 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0
204|171 T—FI 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0
205|1, 3—Y 7T TF=UY 0 2 2 0 0 0 0 0 2 2 0 0 0 1680 1680 1680
207|2, 6—S—9—S vy —TFI—4-—14 3 4 9 2 1 0 0 3 4 4 79 0 79 43 43 122
LY -

HRHEE « THR26FE




OBELBIHERUVBHEONRILFMERIRFHER

Hr - B ENERI DA (lLER)
%1 _2 %B {‘ /\ é%*ﬁ
(7 /14R=2)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
Brt-B
B KE Eij%
T K =K
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 wo| M B
28|12, 4—S—H—S v ) —TFITT)— 0 1 1 0 0 0 0 0 1 1 0 0 0 64 0 64 64
%
212| (RS) —0, S—=UAFI=FEFIK 0 1 1 0 0 0 0 0 1 1 0 0 0 280 0 280 280
is\)I/TE FFxT7—h (BIET7E7T—
23N, N=IXFILF7EMNT7I R 3 4 5 3 1 0 0 4 4 4 3524 72 3596 154600 0 154600 158196
216|[N, N=IXFI)F7=1) > 0 1 1 0 0 0 0 0 1 1 0 0 0 1 0 1 1
271|B—SAFLFTI/ =1, 2, 3—KYF 0 1 1 0 0 0 0 0 1 2 0 0 0 3 5 8 8
77(%%?#973A)
28|V AFILT X 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
V[ AFITRILT 4 K 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20(S X FILSFA AN VEEOKBMLE 0 1 2 0 0 0 0 0 1 1 0 0 0 1000 0 1000 1000
21|12, 2—UXxFJ—2, 3—-SbRkO-1 1 1 1 1 0 0 0 1 1 2 0 0 0 3 2 5 5
=Ry I5v—=T—4)b=N— [N— (
2T hETHLRZJLIFIL) —N—4
VZ7OELNRLT T FEAIN] —N=XF
WA= BBV TSHIVT)
23N, N=UXFIRFULTIY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
224N, N=SAFIRFUILTIV=N—F 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FUR
227(1, 17 =S AFI—4, 4’ —FEErYY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
—vA=240 Oy R (B&/53— PR
A= bl A= VR D)
20|N— (1, 3—UXFITFIL) — - 0 3 4 0 0 0 0 0 3 3 0 0 o| 13516 o| 13518[ 13516
e | A et = e VA 4 S‘/
22|N, N—=SAFURILAT IR 7 RE R D 2 0 of 18] 13 13[ 138281 1708 139989| 539438 of 539438| 679427
234|B 3= 4 1 6 4 0 0 0 4 1 1 803 0 803 1800 0 1800 2603
2352 RE DK AME 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
237|KEE RV ZFDILEY 2 1|l n 1 2 0 0 3 1 1 1 1 2 79 0 79 81
238|kF=ETFI T =)L 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0

HRHEE « THR26FE




OBELBIHERUVBHEONRILFMERIRFHER

e - BEDSERI DS (LOR)
% 1 - 2 %B {‘ /\ é%*ﬁ
(8 / 14R—3))
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
Bty
E | T Tk o
7) =a
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 w | ® BE
239|512 LAY 0 3 4 0 0 0 0 0 3 3 0 0 0 153 0 153 153
20| 2 F L v 17 12 18 16 2 0 0 18 12 12 44146 861 45006 28304 0 28304 73310
22| L Y RUOFDILEY 6 0 70 0 6 0 0 6 0 0 0 23 23 0 0 0 23
24 " % 75 40 88 49 39 0 0 88 40 4112913.7983(192. 13427 3105. 9325 6543. 9054 0.0012|6543. 9066 | 9649. 8392
S|91 A% V3 03 09 739 4253 4253 1643
24|12 —F A XY —3, E—UXFILFTRSE 0 1 1 0 0 0 0 0 1 2 0 0 0 12 0 12 12
RO—2H=1, 3, 6=F7Y7Y (
BIES YAy N)
245 9’—7_]'@% 0 2 2 0 0 0 0 0 2 2 0 0 0 1810 0 1810 1810
28|71y ABEO, O—YTFI—0— (2-— 1 2 2 1 0 0 0 1 2 3 0 0 0 58 0 58 58
AVTAEL—6—XFI—4-E)IY
=)) RIBEFATI /)
»51|F4YARRO, O—UxFIL—0— (3-— 0 1 1 0 0 0 0 0 1 1 0 0 0 390 0 390 390
AFI—4—=tO7z=)) (Bl&7x
—hOFFYRIEMEP)
25(FH7OEY7ZILI—TIL 1 1 1 1 1 0 0 2 1 1 96 780 876 7700 0 7700 8576
2s8[1, 3, 5, 7—7‘-I\57"7‘I\U‘/ ol 0 3 4 0 0 0 0 0 3 3 0 0 0 486 0 486 486
3. 3. 1. 1(3, 7)] FThy (B&
NEHGXFLYTHRSIY)
2597 NSTFLFISLSAILT 1 R (BIG 0 4 6 0 0 0 0 0 4 4 0 0 0 2669 0 2669 2669
T2 T 15 h)
260|7 hSoOO4Y74O0=rYJL (RIZ2Y 0 1 1 0 0 0 0 0 1 1 0 0 0 82 0 82 82
009 0=JLXIETPN)
261|4, 5, 6, 7T—Fr>o004YRYY 0 1 1 0 0 0 0 0 1 1 0 0 0 160 0 160 160
i?y—1(3H)—#>(%%7ﬂ54
62| hSoOOTFLY 7 1|l 73 1 6 0 0 7 1 1 260 2 262 13 0 13 275
266|2, 3, 5, 6—FhSTIAO—4 —% 0 1 1 0 0 0 0 0 1 1 0 0 0 40 0 40 40
FIbRVI)= (Z) —3—- (2—400
-3, 3, 3=-hUZiFO—-1-=-7OR
Z) —2, 2=UXFNToOTANRY
ANKRFSS—F BIBRTIIVEY V)

HRHEE « THR26FE




OBELBIHERUVBHEONRILFMERIRFHER

e - BEDSERI DS (uag)
%1 - 2 %B {‘ /\ é%*ﬁ
(9 / 14_R—=2)
sEmE BEFLIE () T ) BB () HEHR (ko4 5" 41493 3ng-TEQ/ ) BHE e/ IR
HE- B
B K& Eﬁ%
T K =1
g WHET s [ mm [ op | xm | ok | m s | ent | 2= | Kk |en| s | B8P | 1w | mx | ax [EFZ| o | ewm
= wo| @ BE
26713, 7, 9, 13=Fr I AFI—5, 1 0 1 1 0 0 0 0 0 1 1 0 0 0 420 0 420 420
1-U%%%-2, 8, 14— hYF7—
4, 7, 9, 12=FhSTHYRVITA
-3, 12-Yxv-6, 10-IF> (
ANEFATAIT)
268|7F RS AFIFHISALATZIT 14 K (Bl% 5 5| 75 0 5 0 0 5 5 5 0 2 2 602 0 602 604
9"77AX£¢9‘7A)
20| L 7 4 JLER 0 3 5 0 0 0 0 0 3 3 0 0 0 1206 0 1206 1206
N[ L 79 IVEEY X F I 0 1 2 0 0 0 0 0 1 1 0 0 0 360 0 360 360
272 ﬂﬁ_lﬂ(l?é‘tl‘gzi% (BEEAR<, ) 22 6 81 1 22 0 0 23 6 6 81 1024 1105 3631 0 3631 4737
23[1 = RFH /=1L (L /LT IL—RFY 0 1 3 0 0 0 0 0 1 1 0 0 0 1 0 1 1
JL7ILa—=))
14— v )= RFHYFA—IL 2 0 3 2 0 0 0 2 0 0 167 0 167 0 0 0 167
2I5| RFUIIEREEF MY O A 2 0 3 0 2 0 0 2 0 0 0 1820 1820 0 0 0 1820
276|3, 6, 9—NUYTFTHHIYFHY—1, 1 1 0 2 1 1 0 0 2 0 0 6 1500 1506 0 0 0 1506
1—? 7V (BIBTFANSITFLYRVY
IV
2IT|NYTFIVT IV 3 7 8 3 0 0 0 3 7 7 28 0 28 13393 0 13393 13421
28BN T FL VTSIV 1 0 1 1 1 0 0 2 0 0 8 3500 3508 0 0 0 3508
2791, 1, 1—fhYsOOTo Y 3 of 1 2 0 0 3 0 0 450 0 450 0 0 0 450
28001, 1, 2—NUYOQOTHYV 5 1 il 1 5 0 0 6 1 1 5900 490 6390 29000 0 29000 35390
281|NY2O0O0xTFL Y 9 2 74 3 6 0 0 9 2 2 42490 2 42492 61000 0 61000 103492
2911, 3, 5—NUR (2, 3_17_}-{’:\:97“ 0 1 1 0 0 0 0 0 1 1 0 0 0 11000 0 11000 11000
oElL) -1, 3, 5—KY7Yr-2,
4, 6 (1H, 3H, 5H) —hYAYV
22|NY TFILT 0 1 1 0 0 0 0 0 1 1 0 0 0 9500 0 9500 9500
283|777, PIVTw, PILT7—KNUTI 0 1 1 0 0 0 0 0 1 1 0 0 0 14 0 14 14
FA-2, 6-Y=kO-N, N=I70O
E)b)—/ﬁ— MLaoy (BIBRDY TS
I) Vj
261, 2, 4—bMUXFIRVEY 266 12| 284| 266 1 0 of 267 12 12[ 38083 0 38084 20090 o 20090 58174
PEHERE « ER26FE




OBELBIHERUVBHEONRILFMERIRFHER

1. Hed - BENERIDEET (LAR)
®1—-2 #MERRR - 2%E
(10 / 14R—=Y)
SELL BEFRAB () HELH 18 (1) ) YR (ko/4F ;5" (1493 dng-TEQ/ ) BRI ko/TES SV
BB
E | T Tk Eij%r
7] =]
g ME £ gty | mm | ot [ xm | ok |t [ | am | = [ ok |est| xs | SHF | tm | mx | ax [EFD| o | e
= m | @ BE
29711, 3, 5—=RKUAFIRVEY 122 12| 200 122 1 0 o] 123 12 0 12 20409 0 0 0 20409 5039 0 5039 25449
R NI DS 3 3 4 3 0 0 0 3 3 0 3 42 0 0 0 42| 69870 o] 9870 60912
29[ M LA PV 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
30| pLT Y 3371 60 340] 337 7 0 o] 344 60 ol 6o 1030240] 15761 0 o| 1046010 867566 o| 867566 1913575
WI[MLTVYSTIY 1 3 3 1 0 0 0 1 3 0 3 1 0 0 0 1 260 0 260 261
o2|F7H5 LY 3 3 6 3 0 0 0 3 3 0 3 115 0 0 0 115 198 0 198 313
304|848 2 3 3 1 1 0 0 2 3 0 3 4 0 0 0 4 6804 0 6804 6808
305|881t & 12 1 s NIRE 0 ol 13[ 10 ol 10 6 470 0 0 476 240018 o| 240018 240494
07| BB b IO =T A 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
308|=w AL 3 5 1 2 1 0 0 3 5 0 5 1 13 0 0 14 9251 0 9251 9265
309|= v /j'jl/ﬂg@;!m 10 16 20 3 7 0 0 10 16 0 16 341 6681 0 0 7022 178227 0 178227 185249
4[5S —=rOsvoa~nvEY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 43 0 43 43
316[= rORvEY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 ol 11000 ol 11000[ 11000
8|t 3 1 3 3 0 0 0 3 1 0 1| 160008 0 0 o| 160098 5 0 5| 160103
R1NF Y AMEEW 0 4 4 0 0 0 0 0 4 0 4 0 0 0 0 o| 520062 o| 520062 520062
323|2, 4—FPR (TFILFI/)) —6—XF 1 1 1 1 0 0 0 1 1 1 2 0 0 0 0 0 5 2 7 7
WF+—1, 3, 56—r Y7y (BIELY
A RYYV)
324/11, 3—ER [ (2, 3—THR*>7FOr 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
V) AFSI RVEY
325|lE2 (8=%/Y /5 N) 840 (RIgA£> 0 1 1 0 0 0 0 0 1 1 2 0 0 0 0 0 0 0 1 1
VX IS EHER)
329[E2 (N, N=UAFISFAFAINRIY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 2 0 26 26
B) N, NN —IFLYER (FAAILN
;E4 IWFAEER) (BIBRYh— A=}
B[R (1 =XF)I—1—TT=JIITFI) 1 0 1 0 1 0 0 1 0 0 0 0 10 0 0 10 0 0 0 10
=R)LAFT KN
3R|MER VT DELLSY 7 3| 73 1 6 0 0 7 3 0 3 2 12 0 0 15 181 0 181 196

HRHEE « THR26FE




OBELBIHERUVBHEONRILFMERIRFHER
1. B - BEVERIDEE (lLAE)

R1—-2 #HEFER - 2%5E
11/ 14R—=30)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
Brt-B
B KE Eﬁ%
T Tk AE

g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 wo| M B
REX] il N BBV 4 2 10 0 4 0 0 4 2 0 2 0 10 0 0 10 2801 0 2801 2811
36l kOF/ v 1 2 7 0 1 0 0 1 2 0 2 0 170 0 0 170 230 0 230 400
MW7z =)L 1 0 3 1 0 0 0 1 0 0 0 4 0 0 0 4 0 0 0 4
MRSy 2 2 2 2 1 0 0 3 2 0 2 53 320 0 0 373 129 0 129 502
ey Ty 1 2 2 1 0 0 0 1 2 0 2 0 0 0 0 0 4600 0 4600 4600
MlroaFa— RILAHTI—I) 1 0 2 0 1 0 0 1 0 0 0 0 10 0 0 10 0 0 0 10
MIIN—T7z=)LYLAXFK 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Mlo =Ly 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 0 640 0 640 640
39|77/ —)L 10 8 16 10 3 0 0 13 8 0 8 2242 324 0 0 2566| 451701 0o 451701 454267
3BO|3—Tx/FIRYIUN=3— (2, 2— 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 29 0 29 29

SoOnkE=L) =2, 2=UAFILLY

A7ARYAHIRFYS—h (BIERILA

bU>)
3BIf1, 3—TH4TITYV 4 0 5 4 1 0 0 5 0 0 0 4865 1600 0 0 6465 0 0 0 6465
32| 7 BT YL 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 28 0 28 28
B4 THIEBY — /LTI —TFI 1 1 3 0 1 0 0 1 1 0 1 0 1 0 0 1 3 0 3 4
35| 7 IEBER (2 —TFILAFIIL) 4 8 12 3 1 0 0 4 8 0 8 36 2 0 0 38 17842 0 17842 17880
356| 7 H B LTI —TFIL=~RVJ)L 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 18 0 18 18
360|N— [1— (N=/JL<)L—TFFILAILN 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 790 0 790 790

EAN) —TH=-2-RYJLIFJYIL

1 ANNIVEBAFIL (BIBEN/ I)V)
361|7F)= (R) —2— [4— (4—>TF ) 0 2 2 0 0 0 0 0 2 1 3 0 0 0 0 0 6 0 6 6

—2=7)A407x/*%Y) 7x/%Y]

)7°|:| EFr—+~ Bl&>AAKRY TTFIL
6[4—> v —TF=b RORILAES R 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
3|2 —H—> v Y —TFI—5— (4—4— 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 140 0 140 140

) —TFIRVINFF) —4—-0O

0-3 (2H) —EBUFS Y (REEY

FRY)

HRHEE « THR26FE



OBELBIHERUVBHEONRILFMERIRFHER

HE - BEISCRIORET (lwAK)
% 1 - 2 %B {‘ z \ é%*ﬁ
(12 / 14R—=Y)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
BB
B it 25
T Tk =5
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= wo| #E B#
32IN— (94— v Y—TFI) —2—-RVY 0 3 3 0 0 0 0 0 3 3 0 0 0 3000 0 3000 3000
FTPV—NANTIVT IR
374|332 (b AKERCZF DKAMLE 52 71 89 n 45 0 0 56 7 7 2726 91172 93897| 23346 0|  23346| 117243
3IN—TF hNFOAFI—2—-40O0-2" 1 1 1 1 0 0 0 1 1 2 0 0 0 3 1 4 4
6" ~UIFLFEITZUR (BT
s a—J)
378N, N’ —7arELYER (PFFAHIN 1 1 1 0 1 0 0 1 1 1 0 1 1 1100 0 1100 1101
)s VER) CEINDEAY RlETnEXRT
N5 -—JOE-3—tAVII-TFI—6 1 1 1 1 0 0 0 1 1 2 0 0 9 3 ! 4 4
—XFN=1, 2, 3, 4-FhrSERD
EYIvr—-2, 4-vxv (Jl&70%
22
‘41 —JoESONY 1 2 2 1 0 0 0 1 2 2 220 0 220 8090 0 8090 8310
36|17 OFEAYY (REBELAFI) 1 0 1 1 0 0 0 1 0 0 6100 0 6100 0 0 0 6100
3B ANEHFUIRNYAFILTYESIL=Y 1 0 1 0 1 0 0 1 0 0 0 1800 1800 0 0 0 1800
ayk
INVIANXFHAFLYITIY 2 2 4 2 0 0 0 2 2 2 590 0 590 363 0 363 953
WIAFHAFLY=UALYITE—h 2 2 4 2 0 0 0 2 2 2 460 0 460 75000 o| 75000 75460
32| LRIV —~FH Y 260 13 263 260 1 0 0 261 13 13 299028 2 299030 824857 0 824857 1123887
3BINYFT k=L 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0
395\ JLA XY ZREERDIKAMLE 0 1 6 0 0 0 0 0 1 1 0 0 0 54 0 54 54
400(RvE Y 265 1| 33 260 8 0 0| 268 1 1| 21188 3089 24276 900 0 900| 25176
41|11, 2, 4—RYEYRNYAIILKRVEET, 0 2 4 0 0 0 0 0 2 2 0 0 0 114 0 114 114
2 — K
40513 > =L s3[ 12| 90 3| s 0 o] 55 1 13 58| 19384 19442| 11509 7] 11516 30958
406Ky ERET =L (RILPCB) 1 1 7 0 1 0 0 1 1 1 0 0 0 4100 0 4100 4100
407K (AFPITFLY) =FIFILI—F 3 5 9 0 3 0 0 3 5 5 0 14532 14532 147 0 147 14679
W (TIVENEORFHN1 25515 F
TREDRVZDEGYICRD, )

HRHEE « THR26FE




OBELBIHERUVBHEONRILFMERIRFHER

Hhd - BEIERIOKH  (LOR)
%1 - 2 %B {‘ /\ é%*ﬁ
(13 / 14R=Y)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
B -7
E| T TKiE %§f
7] 0&
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= £/ B e
48| RY (AFPITFLY) =49 FIIT7x= 0 1 2 0 0 0 0 0 1 1 0 0 0 7 0 7 7
JILI—F)
497K (AFVITFL V) =RFUII—F 2 2 3 0 2 0 0 2 2 2 0 5921 5921 5540 0 5540 11461
IWHRBTRTILFTRY DL
407K (AFVITFLY) =)7L 2 4 7 0 2 0 0 2 3 5 0 1420 1420 501 7 507 1927
I—7)
M|FILLTILTE R 16 8| 2 16 4 0 o 20 8 9 3607 2591 6198| 17238 92| 17330 23528
N2(v v HYRUCEDILEY 31 26| 100 5 27 1 0 33 26 26 414 27507 27922| 613468 0| 613468| 641390
N3||K T 5 IVEE 3 4 6 3 0 0 0 3 4 4 160 0 160 97 0 97 257
Nnalmk< L4 Vg 1 2 5 1 0 0 0 1 2 2 1 0 1 32 0 32 33
45| X 5 5 JLEE 7 3 8 5 2 0 0 7 3 3 1244 5830 7074| 16005 o 16005 23079
A6 XYY JEE2 —TFIAFII 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N A& YLEE2, 3—TRF> IO 0 1 2 0 0 0 0 0 1 1 0 0 0 1 0 1 1
9| XY ILEE S/ IILTIL—TFIL 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20|45 5 ) JLEE A FIL 5 3 6 5 0 0 0 5 3 3 3023 0 3023 59 0 59 3082
42| (Z) =2' —=XF)LFPEINTIT/ V=4 0 1 1 0 0 0 0 0 1 1 0 0 0 180 0 180 180
“6—9x%w—2<5)=a Le kS
v A&7 Y)LVY)
48|N=AFILANNI VB2 —£HY T — 0 1 1 0 0 0 0 0 1 1 0 0 0 94 0 94 94
ZFV7x=)b (BIE7x/ THLTRIE
BPMC)
29X F)=3—r0O0—-5— (4, 6 =A% 0 1 1 0 0 0 0 0 1 1 0 0 0 38 0 38 38
FEFSY—2—-EUITZIWANNEAILR
WI7EAN) =1 =XFIESV—)L—
4—ALRFESS—F (BlENORNLTO
YAFIV)
B AF)=(E) —2— {2—[6— (2— 0 1 1 0 0 0 0 0 1 1 0 0 0 120 0 120 120
T/ /FY) EYIVV—A4—A)
ZF2] 7T} =3 -XLFTTT)
Z—b FE7ZVEIZ2bOEY)
36| T7IT 7 —AFILAFL Y 4 1 4 4 0 0 0 4 1 1 426 0 426 110 0 110 536

HRHEE « THR26FE




OBELBIHERUVBHEONRILFMERIRFHER

HEH - B ENSERIDERET (lLAE)
% 1 - 2 %B {‘ /\ é%*ﬁ
(14 / 14R=Y)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
BEL- B
BE| T T o
7] 0&
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= w| & BE
B AFIFTHILY 40 2| 42| 40 0 0 of 40 2 0 2 1824 0 1824 4 0 4 1829
M1 —XFJ—1—F7z=IITFI=k RO 1 1 3 0 1 0 0 1 1 0 1 0 22 22| 36000 of 36000 36022
RAFR
M2 — (1 —XF)7AEL) —4, 6 -3 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
—~kOoz7x/—J)L
2alx F )= (E) = A RFSA43I/— (2— 1 1 1 0 1 0 0 1 1 0 1 0 0 0 84 0 84 84
{LC{(E) =1=0[3=(MUTILA
AXFI) 2z=)V] TF)TV} 73/
) AFXT] AFIY TTZI) FEE—H
FEr)ZAFXFZ2bAEY)
446[4, 47 —XFL IV 0 1 2 0 0 0 0 0 1 0 1 0 0 0 1400 0 1400 1400
MIXFLYER (4, 1—=SoA~NEY LY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
=SAIITE=h
MBIXFLYER (4, 1—7z=LY) =% 2 5 13 2 0 0 0 2 5 0 5 4 0 4| 420642 0| 420642| 420646
AV TFR—b
450N— (6—X FFS—2—FYUIJ) —N 0 1 1 0 0 0 0 0 1 1 2 0 0 0 1 0 1 1
—AFIWNFAHIVNIVEO-3 -F—
«1‘)')—7%»71:» (RIBEY TFAL
7
42|12 — X WATIRYIFFTYI—)L 1 5 5 0 1 0 0 1 5 0 5 0 0 0 382 0 382 382
43l ) TV RUFDILEY 3 6 10 1 2 0 0 3 6 0 6 0 36 36 24680 0 24680 24716
45| EJLRY v 1 0 3 1 1 0 0 2 0 0 0 43 2000 2043 0 0 0 2043
Y ABERNY R (2 —TFIAFII) 0 2 2 0 0 0 0 0 2 0 2 0 0 of 14200 of 14200 14200
460|Y AR N Y MY 1 0 1 1 0 0 0 1 0 0 0 1 0 1 0 0 0 1
WIYABRNY 7= 0 2 3 0 0 0 0 0 2 0 2 0 0 0 40 0 40 40
55t 2689 734| 5089 2265 515 1 o 2781 730 29 759| 3501873 390235 3892109 9476100 222| 9476322 13368431

HRHEE « THR26FE




